ﬁj \é‘i\*@ = @@ =1 Multipliser desimaler med 10 100 000 000
StudentName: ________ ExamDate: _______ ExamScore: __
8 x 100 = 3,866 % 100 =

4,069 x 100 = 9,625 x 10 =

10, 687 x 1000 = 8,055 x 1000 =

1,277 x 100 = 9,269 x 10 =

7,206 x 100 = 7,538 x 1000 =

3,483 x 10 = 8,372 x 100 =

7,408 x 1000 = 8,971 x 100 =

9,167 x 1000 = 1,228 x 100 =

7,741 x 1000 = 4,17 x10=

2,86 x 100 = 6,823 x 10 =
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ﬂ:l \?/P% = @@ c% Multipliser desimaler med 10 100 000 000
StudentName: ExamDate: ___ ExamScore:
8 x 100 = 800 3,866 x 100 = 386.6

4,069 x 100 = 406.9 9,625 % 10 =96.25

10, 687 x 1000 = 10687 8,055 x 1000 = 8055

1,277 x 100 = 127.7 9,269 x 10 =92.69

7,206 x 100 = 720.6 7,538 x 1000 = 7538

3,483 x 10 = 34.83 8,372 x 100 = 837.2

7,408 x 1000 = 7408 8,971 x 100 = 897.1

9,167 x 1000 = 9167 1,228 x 100 = 122.8

7,741 x 1000 = 7741 4,17 x10=41.7

2,86 x 100 = 286 6, 823 x 10 = 68.23

www.snowmath.com


https://www.snowmath.com

